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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 - 15 880 11 2.4 15 73.5 100

16 874 4 1.6 6 66.1 99.3
17 880 7.8 2.4 12 64.8 100
18 880 8.5 2.8 14 61.1 100
19 874 4.7 1.7 8 58.2 99.3
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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SECTION B 


Q.16 Use the data. Compare the likely income elasticities of demand (YED) for milk 
and alcohol.  [6] 


 
Award up to 3 marks per product (AO1 - 1 mark: AO2 - 2 marks) 


 
AO1 Does the candidate offer a ‘correct’ label (or YED value) for the product? 
 
Correct identification of YED according to a later justification given in AO2 column (or a 
value of YED is given which links to the justification offered in AO2) 


 
Milk: 
1 mark 
 
If no justification is given, then candidate can have a mark for identifying the good as income 


inelastic/‘necessity’ or inferior (or YED values of +1 to 0, or any negative number). 
 
Alcohol: 
1 mark 
 
If no justification is given, then candidate can have a mark for identifying the good as 
normal, income (in)elastic or luxury (or any positive YED value). 
 
Correct definition of YED will only be credited if there is nothing else in the candidate's 
answer that can be credited. 
 


Band 
AO2 


2 marks per product 


 
Has the data been used to justify the labels and/or values used in AO1? 


2 


2 marks 
Excellent use of the data. 
 
Relevant content from the data is used to develop and support their decision in AO1. 


1 


1 mark 
Limited use of the data. 
 
Candidate only uses one part of the data (from which it would be difficult to deduce a trend) 
or only looks at the very general trend without mentioning specific figures. 


0 


0 marks 
No use of the data 
 
Nothing worth crediting in the application of the data. 
 


 
  







2 
© WJEC CBAC Ltd. 


 
Indicative content: 
 


Whilst milk consumption increases from the 1st decile (1800ml) to the 2nd (2000ml) from that 
point onwards it stays relatively constant (at around 2000ml to 1800ml) and, if anything, 
starts declining as you move into the higher deciles (e.g. 6th decile is approx. 1900ml and 
10th decile is 1800ml).  This indicates that milk is somewhere between being income inelastic 
and inferior. 
 
There is a very obvious upwards trend in alcohol consumption from the 1st decile (approx. 
400ml) to the 5th decile (600ml) to the 10th decile (1000ml).  This indicates that higher income 
households consume more alcohol than lower-income households, suggesting that alcohol 
is a normal good and, most likely, income elastic. 


 
Candidates may also wish to evaluate whether YED values of Milk/Alcohol differ over the 
income range e.g. Milk behaves like a normal good and an inferior good depending on the 
income deciles that you are looking at.  Examiners should give such a discussion credit if the 
answer fulfils the criteria of making a correct judgement on the ‘label’ of YED (AO1) based 
on a specific data set which is accurately presented (AO2). 
 
With regards to Milk: Examiners should not credit the label Income elastic/Luxury, nor a 
strongly income elastic YED, nor a strongly inferior YED.  Examiners should not credit any 
YED value that does not correctly correspond to the justification given in AO2.  If candidate 
offers both a YED ‘label’ and a YED value, he does not score any marks if they are 
inconsistent with each other. 
 
With regards to Alcohol: Examiners should not credit the label ‘Inferior’, nor any negative 
YED value, nor any YED value that does not correctly correspond to the justification given in 
AO2.  If candidate offers both a YED ‘label’ and a YED value, he does not score any marks if 
they are inconsistent with each other. 
 
  












2 marks.



The first sentence doesn’t gain credit (although credit would have been given for the formula if nothing else).



There are no marks for saying milk “fluctuates the most”; this is vague and too general. By contrast, however, there is one AO2 mark for saying that alcohol “in every case is increasing with income decile”.



The remaining portion of the answer is confused and there is some question whether it is worth anything. On reflection, however, it was decided to award one AO1 mark for the assertion that milk is income inelastic given that it was based on some (albeit very limited) logic.












4 marks.



This answer gives a general description of the data for both alcohol and milk without actually referring to the data. Therefore, it does not gain top level application marks (2 out of 4 possible AO2 marks).



The answer does ‘correctly’ label the products in terms of YED from the descriptions given.
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6 marks.



This answer uses the data well to describe the behaviour of the two goods with regards to income.  For example, the comment “milk … ranges between an average of 1800ml and 2000ml per week at both high and low incomes”. It scores top application (AO2) marks.



And it makes correct assertion about the likely YED values from this analysis.
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SECTION B


Answer all the questions in the spaces provided.


16.	 Study the graph in order to answer the question below.


Average quantity of milk and alcohol (per week) purchased by income decile – 2013
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	 Using the data, compare the likely income elasticities of demand (YED) for milk and alcohol.
	 [6]
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Q.17 (a) Using examples from the data. Define the concept of private costs and 
external costs of alcohol consumption. [4] 
 
Private Costs (AO1 - 1 mark:  AO2 - 1 mark) 
 
AO1 - Definition of the private costs of alcohol consumption. 
 
1 mark 
The term ‘private costs’ is defined to a good standard.  This must be defined from the 
point of view of the consumer. 
 
AO2 - Suitable examples of the private costs of alcohol consumption. 
 
1 mark 
Examples of the privates costs of alcohol are offered and are correct. 
 
 
External Costs (AO1 - 1 mark: AO2 - 1 mark) 
 
AO1 -  Definition of the external costs of alcohol consumption. 
 
1 mark 
The term ‘external costs’ is defined to a good standard.   
 
AO2 - Suitable examples of the external costs of alcohol consumption. 
 
1 mark 
Examples of the external costs of alcohol are offered and are correct. 
 


 
Indicative content: 
 


Private costs: The cost that is incurred when an individual consumes something – in this 
case alcohol, which is likely to lead to possible ill-health and/or injury, long-term physical 
damage, loss of earnings due to hangover etc … 
 
OR 
 
The actual cost (financial burden) of having to pay for an alcoholic drink.  The fact that 
alcohol has a price (and therefore an opportunity cost) in its consumption can also be 
credited. 
 
NB Private Costs in the sense of costs that are incurred when a business produces 
something (in this case alcohol, which is likely to have been raw ingredients, staff 
members, packaging, fixed and variable costs) cannot be credited since the question 
is about alcohol ‘consumption’. 


 
External Costs: External cost is the cost to a third party of a transaction between private 
agents (buyer and seller).  Could also include: neither private agent (buyer or seller) takes 
responsibility for paying for the external cost.  In this case, alcohol leads to external costs 
such as alcohol misuse and increasing NHS costs, alcohol is the biggest single cause of 
death in under-60's, drinking contributes to a number of serious health conditions, including 
cancer, liver disease and heart disease. Alcohol misuses costs the NHS in Wales about 
£109 m a year. 
  












1 mark.



There are several flaws in this answer. Firstly, the candidate’s understanding of the concept of ‘private costs’ is incorrect. Secondly, there is no attempt at a definition of external costs.



Finally, the answer reads like it is answering a different question – perhaps “explain why campaign methods are being used” or similar. And so, this is a good example of a candidate not really answering the question set.



The only thing credit-worthy is the examples of external costs offered at the end of the answer.












2 marks.



In this case, the candidate does not know the correct definitions of either ‘private costs’ nor ‘external costs’.  



But, s/he is able to score AO2 marks through good use of examples such as “the costs of treating you for cancer, liver disease …” and “as the £109m a year spent on sick people …”.  The candidates scores full AO2 marks. 












4 marks.



This answer does everything asked for in the question.  Not only does this candidate understand the material but s/he is writing in a clear and succinct style, which is structured in such a way that it fulfills every criteria of the question.  A perfect answer. 
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17.	 According to the Office for National Statistics, binge-drinking among young adults in Britain is 
falling. In 2005, the proportion of 16-24 year olds who were ‘bingeing’ at least once a week was 
29%. That figure has now fallen to 18% in 2013.


	 It is thought that increasing numbers of young adults aged 16-24 are now teetotal and drink no 
alcohol whatsoever, whereas many are simply drinking less when they go out. Public health 
campaigners such as Drinkaware will argue that the figures demonstrate the success of 
sensible drinking campaigns. Labelling of bottles, TV commercials and posters around university 
campuses are all good examples of recent campaigns.


	 Nevertheless, alcohol still remains the biggest single cause of death in under-60s in the UK.  
Drinking too much can contribute to a number of serious health conditions, including cancer, 
liver disease and heart disease. It is estimated that alcohol misuse costs the NHS in Wales 
about £109 m a year (source: BBC). 


	 (a)	 Using examples from the data, define the concept of private costs and external costs of 
alcohol consumption.	 [4]
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Q.19 
Discuss how the introduction of the National Living Wage is likely to affect 
investment within the Welsh economy. [8] 


Band 
AO2 AO3 AO4 


2 marks 4 marks 2 marks 


 


Has economic theory 
been well developed to 
support arguments with 
regards to the context of 
Wales? 


Has economic theory been 
well developed to support 
the argument – that 
investment will fall? 


Has economic theory been 
used to evaluate the 
arguments made? 


2 


2 marks 


Clear reference to the 
data or personal 
knowledge. 
 
Relevant content from the 
data is used to develop 
and support their 
argument. 
 


3-4 marks 


A good analysis. 
 
A clear link from an 
increased min wage 
(perhaps through a 
diagram) through to the 
impact on firms and how 
that will affect their likely 
investment levels in the 
future. 
 


2 marks 


Clear well-reasoned and 
balanced evaluation. 
 
Clear reference to 
economic theory to justify 
the judgement. 


1 


1 mark 
Limited use of the data. 
 


1-2 marks 
A limited analysis. 
 
 


1 mark 
Limited evaluation.  
 
The evaluation may be 
unbalanced and 
superficial. 


0 
0 marks 


No use of the data. 


0 marks 


No or incorrect analysis. 


0 marks 


No evaluation offered.  
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Indicative content: 
 


Candidates may make one of the following credible arguments: 
 
AO3 (Explanation) - Investment will fall: 
 


- Businesses’ labour costs increase due to the Living Wage increases.  This limits the 
money available for reinvestment and, therefore, limits future business growth. 
 


- Businesses may seek alternative investment opportunities elsewhere (in other parts 
of the world) where labour costs are lower.  They may leave Wales. 


 
- Businesses may sense that unemployment is likely to rise (Living Wage diagram 


showing the rise of unemployment) and therefore they are unlikely to expand in a 
climate of high unemployment. 


 
- Impact in Wales is likely to be greater than elsewhere in the UK because of the pre-


eminence of low-wage industries – in particular parts of Wales.  The effect in say 
South-East England is going to be much lower since most people are paid above the 
Living Wage. 


 
AO4 (Explanation) - Investment will rise: 
 


- Income inequality is reduced and therefore more workers have greater disposable 
income which they can spend in the economy.  Increased consumption may drive 
investment (or at least it may offset the loss in investment). 
 


- Investment is dependent on various factors – this must be expanded on in the 
context of the question if it is to gain any credit. For example, various capital 
infrastructure projects in Wales are being funded at the moment and therefore labour 
costs may be offset by the reduction in costs elsewhere and therefore investment 
may not fall as much. Or that entrepreneurial expectations may improve or even that 
interest rates fall to 0% in the future 
 


- Businesses may take the opportunity to automate/mechanise their production 
processes and therefore investment actually increases in the short-term. 


 
AO2: 
 


Almost any use of data is permissible here so long as the points in AO3 and AO4 are heavily 
contextualised within the framework of the Welsh economy.  Personal knowledge or any of 
the data above is used well to support the answer. 
 
This is not an exhaustive list and examiners should be prepared to credit other answers if 
they are appropriate. 
 
Answer is reversible.  In this case, AO3 would be available for making the case that 
investment will not fall/increase. 
 
 
 
 
2520U10-1 WJEC Economics Unit 1 MS Summer 2017/GH 












2 marks.



The brevity of this answer is a give-away that it did not score highly.



There is argument here about business costs increasing and therefore limiting the capacity for businesses to invest the future.  That said, the point is limited and can only reach the bottom end of the AO3 marks.  



Despite the use of the words “the Welsh economy” there is no application worthy if credit here and there is no evaluation either.  This answer could have just as easily scored 1 instead of 2.












In this answer, there is enough marks for AO3 (4 marks) and AO4 (2 marks) but there is no creditable application (AO2).  



The argument about productivity is not particularly creditable given that, in economics, higher wages are considered to be the reward for  increased productivity (MRP theory) and not so much the incentive (which is Taylorism and features more prominently in motivational theory of Business).  







6 marks.



The candidate makes good, well thought-out and nicely developed points about investment in technology (AO3), higher business costs (AO4) and a qualifying statement about regions in which average earnings are already above the NLW (AO3).  
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Looking at this answer holistically, it essentially makes 3 arguments: -
The first argument that higher minimum wages increases incomes, decreases job security and raises living standards is fair but it is not related to investment satisfactorily.  In fact, at this stage, the candidate seems to be confused about what investment is.  It gains no marks.



The next point, however, is better constructed. The diagram is utilised well, showing that unemployment may result from higher wages and this may in turn cause investment to decrease.  And there is a good link to business costs as well, linking to a reduction in investment.  The analysis (AO3) at this stage scores 3.  The argument is then qualified at the end, albeit in a limited sense and thus there is one AO4 mark awarded.







6 marks.



In terms of AO2, this answer scores 2/2.  This is perhaps slightly generous but the reference to both qualitative and quantitative data is well regarded. 
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19.	 The Chancellor of the Exchequer, George Osborne, gave his Budget to Parliament on 8 July 


2015. During the Budget Osborne said “Britain deserves a pay rise” as he unveiled a new 
compulsory National Living Wage, set well above the National Minimum Wage. The compulsory 
National Living Wage was due to start in April 2016, at the rate of £7.20 per hour, and rising to 
£9 per hour by 2020. Working people aged 25 and over will receive it.


	 There was mixed reaction in Wales. Stephen Crabb, the Secretary of State for Wales, said the 
policy “delivers economic security for people in Wales who work hard and want to get on”. Some 
Welsh business owners, however, including Tracey Smolinski from networking company Introbiz 
said the National Living Wage could affect business growth. “It will be difficult for some firms to 
find the extra money which will leave less cash to reinvest back into the businesses”, she said.
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Look at Wales:
	 ▪	 TUC analysis in 2014 showed that nearly 1 in 4 jobs (23.9%) in Wales paid less  
		  than £7.20 per hour. 
	 ▪	 In some parts of Wales, half of jobs were paying less than £7.20 per hour in 2015.  
		  Dwyfor Meirionnydd topped the list of Living Wage black spots with 50.9% of  
		  the jobs based there paying less than £7.20 per hour. This was followed by  
		  Rhondda (38.9%), Clwyd South (38.8%) and Gower (37%).


	 Discuss how the introduction of the National Living Wage is likely to affect investment within the 
Welsh economy.	 [8]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	











